Rocket Quiz
25 Points

Open Book/Open Notes

A rocket chamber has the following conditions:

Chamber pressure: 70 atm N <?m> = 4 atm

Chamber temperature: 2800 K

Chamber to exit pressure ratio: 70:1 B
Specific heat ratio: 1.25

Gas molecular weight: 26

Throat Area: 0.1 m

Find the following:

(5)What is the exhaust velocity?

(5) Determine the mass flow of the rocket

(5) Determine the area ratio (use equation 6.28)

(2) What is the effective exhaust velocity (c)?

(5) What is the characteristic exhaust velocity (c*)?
(3) What is the thrust coefficient (ct)?
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